
A
L D A

D−1

A

A

A = R ∗ RT

R R
A R



aii =
i∑

j=1
r2

ij

3 × 3 A

⎡

⎣
a11 a12 a13
a21 a22 a23
a31 a32 a33

⎤

⎦ =

⎡

⎣
r11 0 0
r21 r22 0
r31 r32 r33

⎤

⎦ ∗

⎡

⎣
r11 r21 r31
0 r22 r32
0 0 r33

⎤

⎦

A

a11 = r2
11

a22 = r2
21 + r2

22
a33 = r2

31 + r2
32 + r2

33

aii A
R

R

R

A A

A = R ∗ RT = L ∗ D ∗ LT

R L S

A = R ∗ RT = L ∗ S ∗ (L ∗ S)T = L ∗ S ∗ ST ∗ LT = L ∗ D ∗ LT

D = S ∗ ST

S sii =
√

dii

R = L ∗ S

R 3 × 3
⎡

⎣
r11 0 0
r21 r22 0
r31 r32 r33

⎤

⎦ =

⎡

⎣
1 0 0
l21 1 0
l31 l32 1

⎤

⎦ ∗

⎡

⎣
s11 0 0
0 s22 0
0 0 s33

⎤

⎦

L S R
S

rii = sii =
√

dii



dii

D

dii = 1
2 − 1

4 (Fs + Fd) = 1 − 0.25(ass + add)

s d i ass add

rii =
√

1 − 0.25(ass + add)

rij R

rij = lij ∗ sjj

lij L lsj ldj s d
i

rij = lij ∗ sjj

= 1
2(lsj + ldj) ∗ sjj

= 1
2(rsj + rdj)

rii rij

a11 a66 F1 F6
A

1 a11 1
F1 = 0

a11 = 1 + F1 = 1



2 a22

a22 = r2
21 + r2

22

2 rsj rdj 0
r21 = 0 2 r22 = 1

a22 = r2
21 + r2

22 = 0 + 1 = 1

a33 r31 r32 r33
3 1 2

r31 = 1
2(r11 + r21) = 1

2(1 + 0) = 0.5

r32 = 1
2(r12 + r22) = 1

2(0 + 1) = 0.5

r33

r33 =
√

1 − 0.25(a11 + a22) =
√

1 − 0.25(1 + 1) =
√

0.5 = 0.7071068

a33 A 3

a33 = r2
31 + r2

32 + r2
33 = 0.52 + 0.52 + 0.70710682 = 1

F4 = 0 a44 = 1 4
4 R

r41 = 1
2 ∗ r11 = 1

2 ∗ 1 = 0.5

r42 = 1
2 ∗ r12 = 1

2 ∗ 0 = 0

r43 = 1
2 ∗ r13 = 1

2 ∗ 0 = 0

r44 =
√

1 − 1
4 ∗ a11 =

√
1 − 1

4 ∗ 1 = 0.8660254



5 6 3
F5 F6

r51 = 1
2(r41 + r31) = 1

2(0.5 + 0.5) = 0.5

r52 = 1
2(r42 + r32) = 1

2(0 + 0.5) = 0.25

r53 = 1
2(r43 + r33) = 1

2(0 + 0.7071068) = 0.3535534

r54 = 1
2(r44 + r34) = 1

2(0.8660254 + 0) = 0.4330127

r55 =
√

1 − 0.25 ∗ (a44 + a33) =
√

1 − 0.25 ∗ (1 + 1) = 0.7071068

a55 = r2
51 + r2

52 + r2
53 + r2

54 + r2
55 = 1.125

r61 = 1
2(r51 + r21) = 1

2(0.5 + 0) = 0.25

r62 = 1
2(r52 + r22) = 1

2(0.25 + 1) = 0.625

r63 = 1
2(r53 + r23) = 1

2(0.3535534 + 0) = 0.1767767

r64 = 1
2(r54 + r24) = 1

2(0.4330127 + 0) = 0.2165064

r65 = 1
2(r55 + r25) = 1

2(0.7071068 + 0) = 0.3535534

r66 =
√

1 − 0.25 ∗ (a55 + a22) =
√

1 − 0.25 ∗ (1.125 + 1) = 0.6846532

a66 = r2
61 + r2

62 + r2
63 + r2

64 + r2
65 + r2

66 = 1.125
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